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I Cost Benefit Analysis

A Development Of Project Cash Flows

(Part3&4 of the book)
I Depreciation
I Taxes (Effect Of Depreciation)
I Financial Statements
I Cash Flow and Sensitivity Analysis



- jﬁ;‘ Cost Benefit Analysis

A Engineers use tables, sheets and future
forecasts to make the company decide on
Investments

A Try to measure in numbers and be rational

A If not possible try to put immeasurable
benefits as numbers again.



Usually applied in Governmental Projecig
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A B | C D | E ] F G H
3
2 |Income Statement [fDQ'(1+$B$f§) I
3 |End of Year Inflation Rate 0 1 2 3 4 5
4
5 |Revenue 6% $ 185,500 | $§ 196,630 | $ 208,428 | $ 220,933 | $ 234,189
6 |Expenses:
7 Labor 5% S 63000|% 66,150 | % 69458 |$ 72930 | % 76,577
8 Materials 4% $ 20800|% 21632 |$ 22497 |$ 23,397 | $ 24,333
9 Overhead 5% $ 10500 | % 11025 |$ 11576 |[$ 12155 | $ 12,763
10 Debt Interest S 7776 |$ 6552 |8% 5181 |$% 3646 | % 1,926
11 Depreciation $ 23143 |% 39673 |$ 28,338 |% 20242 | 3% 7,229
12
13 | Taxable Income $ 60281 |% 51598 |$ 71378 | $ 88,563 | $ 111,362
14 [Income Taxes (40%) $ 24112 |$ 20639 |$ 28551 |$ 35425 | $ 44,545
15
16 |Net Income $ 36,169 |$ 30959 | % 42827 | % 53,138 | $ 66,817
17
18 |Cash Flow Statement
19 |Operating Activities:
20 Net Income $ 36,169 | % 30959 | 3% 42827 |$ 53,138 | $ 66,817
21 Depreciation $ 23143 |9% 39673 | % 28338 |% 20242 | % 7,229
22 |Investment Activities:
23 | Milling machine $(162,000) =-(H24-(-C23-SUM(D11:H11)))"0.4
24 Salvage Value 3% A S 52167
25 Gains Tax $ (3,517)
26 | Working capital 5% $ (25.000)] ($1.250)] ($1.313)] ($1.378)] ($1.447)| $ 30,388
27 |Financing Activities:
28 Borrowed Funds $ 64,800
29 Principal Repayment $ (10,200)| $ (11,424)| $ (12,795)| $ (14,330)| $ (16,050)
30
31 |Net Cash Flow (Actual Dollars) |$(122.200) $ 47862 | % 57895 | S 56992 | $ 57,603 | $137.034
32
33 I I 1 1 1
34 PW(21.90%)=| $§ 64,485 =NPV(21.9%,D31:H31)+C31
35 IRR = 41.15% z
36 w | =IRR(C31:H31,15%)
27 T




Depreciation

Enjoy a Lump Sum Tax-Benefit Now or Take Deferred
Benefits Over the Life of Equipment? In September 2010, \\A\
in an effort to further speed along the ailing U.S. economy’s recovery, A
President Obama proposed a new bill intended to save businesses ;
money. Categorized by the administration as “the largest temporary
investment incentive in American history,” it would allow businesses
to deduct any new equipment purchases from their incomes in 201 |;
the intent being to incentivize spending, increase the demands for
goods, and create jobs.




Depreciation

A Definition: Loss of value for a fixed asset between two periods

A Example: Market values of a vehicle over 5 years
Price = 50,000 D,= 10,000 per year for N=5

A Accounting Depreciation: For tax calculations

A Economic Depreciation: For inside use only



Types ODepreciation

for Managerial Decisions

Book Depreciation —

Tax Depreciation

e Used in reporting
net income to investors

Y

Straight-line

and stockholders
¢ Used in pricing
decisions

e Used in calculating
income taxes for the IRS

e Used in engineering
economic decisions

Y

Declining balance

Y

Units-of-production

3-year
S-year
Personal 7-year
property 10-year
15-year
20-year
Real 27.5-year
property 39-year




Depreciation

A How long is the depreciable life?
A How much the salvage value?

A Cost

A Method of depreciation

Only Straight Line Accounting Depreciation is applicable in Turkey
without salvage value.

Others can be used if required for managerial purposes



Depreciation

Cost Basi@BUT)

Cost of a new holpunching machine (Invoicg

price) $62,500]
+ Freight 725
+ Installation labor 2,150
+ Site preparation 3,500
Cost basis to use in depreciation calculation $68,875

Conflict with the rule Depreciate Early

10



Straight LindDepreciation

* Annual Depreciation
Dn = (l _ 3 /'N
D,=1/N (Turkey)

* Book Value
Bn =I=n (Dn)

wherel = cost basis

S= Salvage value
N = depreciable life

Sis always zero in Turkey

11



0.2. Straight Lin®epreciation

EXAMPLE 9.2 Straight-Line Depreciation

Consider the following data on an automobile:

Cost basis of the asset (/) = $10,000;
Useful life (N) = 5 years;
Estimated salvage value (S) = $2,000.

Compute the annual depreciation allowances and the resulting book values using
the straight-line depreciation method.

12
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i b= D

0.2. Straight Liné

-~ output
10000 $ 3000
2000 $ 1600
5 Years
 Depretiation ~ Book Value 5000
$0.00 $10,000.00
$1.600.00 $8.400.00 1500
$1.600.00 $6.800.00 1000
$1.600.00 $5.200.00 00
$1.600.00 $3.600.00
ol I s T I T | ok I AT at a e Tal 'n
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9.3. Declining Balandeepreciation

EXAMPLE 9.3 Declining-Balance Depreciation

Consider the following accounting information for a computer system:

Cost basis of the asset (/) = $10.000;
Useful life (N) = 5 years;

Estimated salvage value (S) = $2,000.

Compute the annual depreciation allowances and the resulting book values using
the double-declining-balance depreciation method.

End of Year D, B,
| 0.4($10,000) = $4.,000 $10,000 — $4.000 = $6,000
2 0.4($6,000) = $2.400 $6,000 — $2.400 = $3.600
3 0.4($3,600) = $1.440 $3.600 — $1.440 = $2.160
4 0.4($2,160) = $864 — [$160|  $2,160 — $160 = $2,000
5 0 §2,000 — $0 = $2,000

Total = $8.000

14



9.3. Declining Balande

2

3

4 5

5 5 Years

6 04  40.00%

7 5000

9 | 0 0 $10.000.00 3000

10 | 1 $4.000.00 $6.000.00 5000

1 | 2 $2.400.00 $3.600.00

12 | 3 $1.440.00 $2,160.00 1000 I I

13 | 4 $160.00 $2,000.00 0 -

14 | 5 $0.00 $2.000.00 1 2 3 4 3
15 |

16

17 | 15000

18 $10,000.00

o | | | 10000

20 38,000.00

A | 5000 I J FY o 16000 200000 200000
2 ] I m m =
23

o] 1 2 4 5 6
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9.4.Declining Balanceith conversion to SL

EXAMPLE 9.4 Declining Balance with Conversion
to Straight-Line Depreciation (By > §)
Suppose the asset given in Example 9.3 has a zero salvage value instead of $2.000:
Cost basis of the asset (/) = $10,000;
Useful life (N) = 5 years;
Salvage value (5) = $0;
a = (1/5)(2) = 40%.

Determine the optimal time to switch from DB to SL depreciation and the result-
ing depreciation schedule.

(a) Without switching (b) With switching to SL depreciation
n Depreciation Book Value n Depreciation Book Value
1 $10,000(0.4) = 54,000 $6,000 1 $4,000 56,000
2 $6.000(0.4) = §2,400 $3,600 2 $6,000/4 = $1,500 < $2,400 $3,600
3 $3,600(0.4) = 51,440 $2,160 3 $3,600/3 = $1,200 < $1.440 $2,160
Rl $2.160(0.4) = 5864 $1,296 4 $2,160/2 = $1,080 = $864 $1,080
5 $1.296(0.4) = 518 §778 5 $1,080/1 = $1,080 = $518 50

16



10000

$
$

Years
40.00%

Depretiation Book Value

$4,000.00
$2,400.00
$1,440.00
$1.080.00
$1,080.00

$10,000.00

$6,000.00
$3,600.00
$2,160.00
$1.080.00

$0.00
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9.5. Units Of Productiomepreciation

EXAMPLE 9.5 Units-of-Production Depreciation

A truck for hauling coal has an estimated net cost of $55,000 and is expected to
give service for 250,000 miles, resulting in a $5,000 salvage value. Compute the
allowed depreciation amount for truck usage of 30,000 miles.

ep=—2:000 55 000 - $5,00C

250,000

ae; % 50, 000)
S5 9

=$6, 000

18



Announced by
Ministry of
Financial Affairs

At the beginnigg of
each year

Il n Turkey

Asset Depreciation Range (vears)

Lower Mid point Upper
Assets Used Limit Life Limit
Office furniture, fixmres, and equipment 8 10 12
Information systems (computers) 5 a1 7
Adrplanes 3 & 7
Automobiles and taxis 2.5 3 3.5
Buses 7 9 L1
Light trucks 3 4 5
Heavy trucks (concrete ready mixer) 5 6 7
Railroad cars and locomotives 12 15 18
Tractor units 5 7
Wessels, barges, tugs, and water transportation
systems 1.5 15 21.5
Industrial steam and electrical generation or
distribution systems 17.5 22 26.5
Manutacturer of electrical machinery & 10 12
Manufacturer of electronic components, products,
and systems 5 6 7
Manufacturer of motor vehicles 9.5 12 14.5
Telephone distribution plant 28 35 42




MACRS$TAX)

Depreciation (USAIncentive)

Class 3 5 7 14 15 20
Depreciation Rate 2000 % 200 200% 200 %o 150% 1505
Year DB DB DB DB DB DB
1 33.33 20,00 14.29 10.00 5.00 3.750
2 4445 32.00 24.49 15.00 9.50 7.219
14.81* 19.20 17.49 14.40 B.55 6.677
4 7.41 11.52=* 12.49 11.52 T7.70 6.177
5 11.52 B.O3= 9.22 6.93 5713
6 5.76 5.92 737 6.23 5.285
7 5.03 6H.55* 5.90F 4.888
8 4.46 6.55 5.90 4,522
9 6.56 5.91 4. 462%
10 6.55 5.90 4.461
11 3.28 5.91 4.462
12 5.90 4.461
13 5.91 4.462
14 5.90 4.461
15 5.91 4.462
16 295 4.461
17 4.462
18 4.461
19 4.462
20 4.461
21 2.231

He wn = = = = = = = 1 ; H
= 7 Year to switch from declining balance to straight line. Source: IRS Publication 534, Depreciation, U.S. Government
Printing Offices, Washingron, DC, December 1995,



9.6 MACR®epreciation

(USA- Personal Property with trade In)

EXAMPLE 9.6 MACRS Depreciation: Personal Property
with Trade-In

An old automobile is traded for a new automobile with a list price of $30,000. The
old automobile has a net book value of $5,000. but the dealer has given $6.000
trade-in allowance, so the total purchase price is $24.000. The automobile will be
depreciated according to the five-year MACRS class. Determine the cost basis to
use and compute the MACRS percentages and the depreciation amounts for the
new automobile.

21



9.6 MACR®epreciation

e Asset cost = $29,000

* Recovery Period = 5-Year MACRS

* Depreciation Method = Half-year convention, zero salvage value,
200% DB switching to SL

20% 2% | 1920% | 11.52% | 1L52% | 576%

§5.800 | $9.280 | $5568 | $3341 | $3341 | SL167
Ful |  Full Full rat | [N
2 || B 4 S 6
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Depreciation- Profit— Tax

and Cash Flow

A B | C D | E ] F | G H
3
2 |Income Statement [fDQ'(1+$B$f§) I
3 |End of Year Inflation Rate 0 1 2 3 4 5
4
5 |Revenue 6% $ 185,500 | $§ 196,630 | $ 208,428 | $ 220,933 | $ 234,189
6 |Expenses:
7 Labor 5% S 63000|% 66,150 | % 69458 |$ 72930 | % 76,577
8 Materials 4% $ 20800|% 21632 |$ 22497 |$ 23,397 | $ 24,333
9 Overhead 5% $ 10500 | % 11025 |$ 11576 |[$ 12155 | $ 12,763
10 Debt Interest S 7776 |$ 6552 |8% 5181 |$% 3646 | % 1,926
11 Depreciation $ 23143 |% 39673 |$ 28,338 |% 20242 | 3% 7,229
12
13 | Taxable Income $ 60281 |% 51598 |$ 71378 | $ 88,563 | $ 111,362
14 [Income Taxes (40%) $ 24112 |$ 20639 |$ 28551 |$ 35425 | $ 44,545
15
16 |Net Income $ 36,169 |$ 30959 | % 42827 | % 53,138 | $ 66,817
17
18 |Cash Flow Statement
19 |Operating Activities:
20 Net Income $ 36,169 | % 30959 | 3% 42827 |$ 53,138 | $ 66,817
21 Depreciation $ 23143 |9% 39673 | % 28338 |% 20242 | % 7,229
22 |Investment Activities:
23 | Milling machine $(162,000) =-(H24-(-C23-SUM(D11:H11)))"0.4
24 Salvage Value 3% A S 52167
25 Gains Tax $ (3,517)
26 | Working capital 5% $ (25.000)] ($1.250)] ($1.313)] ($1.378)] ($1.447)| $ 30,388
27 |Financing Activities:
28 Borrowed Funds $ 64,800
29 Principal Repayment $ (10,200)| $ (11,424)| $ (12,795)| $ (14,330)| $ (16,050)
30
31 |Net Cash Flow (Actual Dollars) |$(122.200) $ 47862 | % 57895 | S 56992 | $ 57,603 | $137.034
32
33 I I 1 1 1
34 PW(21.90%)=| $§ 64,485 =NPV(21.9%,D31:H31)+C31
35 IRR = 41.15% z
36 w | =IRR(C31:H31,15%)
27 T
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Accounting Profit

Gross income ( Revenue )
Expenses:
Cost of goods sold
Depreciation
[nterest expenses
Operating expenses

Taxable income
Income taxes

Net income (accounting profit)

Net Cash Flow = NI + Dep.

24



9.8 Calculating Tax

EXAMPLE 9.8 How to Determine Corporate Taxes

A mail-order computer company sells personal computers and peripherals. The
company leased showroom space and a warchouse for $20,000 a year and installed
$290,000 worth of inventory-checking and packaging equipment. The allowed
depreciation expense for this capital expenditure ($290,000 total) amounted to
$58,000. The store was completed and operations began on January 1. The com-
pany had a gross income of $1.250,000 for the calendar year. Supplies and all oper-
ating expenses other than the lease expense were itemized as follows:

Merchandise sold in the year $600,000
Employee salaries and benefits $150,000
Other supplies and expenses $90,000

$840,000

Compute the taxable income for this company. How much will the company pay
in federal income taxes for the year? What is its average corporate tax rate? What
is the net income?

25



9.8 Calculating Tax

Gross revenues $1,250,000
Expenses $840,000
Lease expense $20,000
Depreciation $58,000

TABLE 9.1 1 US. Corporate Tax Schedule (2011) Taxable income $332,000

Taxable Income Marginal Surtax Tax Rate Tax Computation

0 - $50.000 15% $0 + 0.15(4)

$50,001 - §75,000 25% $7.500 + 0.25(A)

$75,000 - $100.,000 34% $13,750 + 0.34(A)

$100,001 -$335,000 34% + 3% $22.250 + 0.39(A)

$335.001 - $10.000,000 34% $113.900 + 0.34(A)

$10,000,001 - $15,000.000 35% $3.400,000 + 0.35(A)

$15,000,001 —-§18,333,333 35% + 3% $5.150,000 + 0.38(A)

$18.333,.334 and up 35% $6,416.666 + 0.35(A)

(A) denotes the taxable income in excess of the lower bound of each tax bracket. 26



Taxes for Turkey014)

Gelir Vergisi Kanununun 103 iinci maddesinde yer alan gelir vergisine tabi geliderin vergilendirilmesinde esas alinan tarife, 2013 takvim
yili gelirlerinin vergilendirimesinde esas alinmak izere asaqidaki sekilde yeniden belidenmistir,

10.700 TL've kadar %% 15
26.000 TL'nin 10.700 TL'si icin 1.605 TL, fazlas % 20
60.000 TL'nin 26.000 TL'si icin 4.665 TL (iicret gelirlerinde 94.000 TL'nin
26.000 TL'si icin 4.665 TL), fazlas

60.000 TL'den fazlasimin 60.000 TL'si icin 13.845 TL (dcret geliferinde
04.000 TL'den fazlasimin 94.000 TL'si icin 23.025 TL), fazlas

% 27

% 35

27



Taxes for Turkey012)

YILLAR iTIBARIYLE KURUMLAR VERGISI ORANLARI
2010 Yili %20 K.V.K Mad.32
2009 Yili 0420 K.V.K Mad.32
2008 Yili 0420 K.V.K Mad.32
2007 Yili %620 K.V.K Mad.32
2006 Yili 0420 K.V.K Mad.32
2005 Yili %30 K.V.K Mad.25
2004 Yili 0433 K.V.K Gec.Mad.32

28



Depreciation- Profit— Tax

and Cash Flow

A B | C D | E ] F | G H
3
2 |Income Statement [fDQ'(1+$B$f§) I
3 |End of Year Inflation Rate 0 1 2 3 4 5
4
5 |Revenue 6% $ 185,500 | $§ 196,630 | $ 208,428 | $ 220,933 | $ 234,189
6 |Expenses:
7 Labor 5% S 63000|% 66,150 | % 69458 |$ 72930 | % 76,577
8 Materials 4% $ 20800|% 21632 |$ 22497 |$ 23,397 | $ 24,333
9 Overhead 5% $ 10500 | % 11025 |$ 11576 |[$ 12155 | $ 12,763
10 Debt Interest S 7776 |$ 6552 |8% 5181 |$% 3646 | % 1,926
11 Depreciation $ 23143 |% 39673 |$ 28,338 |% 20242 | 3% 7,229
12
13 | Taxable Income $ 60281 |% 51598 |$ 71378 | $ 88,563 | $ 111,362
14 [Income Taxes (40%) $ 24112 |$ 20639 |$ 28551 |$ 35425 | $ 44,545
15
16 |Net Income $ 36,169 |$ 30959 | % 42827 | % 53,138 | $ 66,817
17
18 |Cash Flow Statement
19 |Operating Activities:
20 Net Income $ 36,169 | % 30959 | 3% 42827 |$ 53,138 | $ 66,817
21 Depreciation $ 23143 |9% 39673 | % 28338 |% 20242 | % 7,229
22 |Investment Activities:
23 | Milling machine $(162,000) =-(H24-(-C23-SUM(D11:H11)))"0.4
24 Salvage Value 3% A S 52167
25 Gains Tax $ (3,517)
26 | Working capital 5% $ (25.000)] ($1.250)] ($1.313)] ($1.378)] ($1.447)| $ 30,388
27 |Financing Activities:
28 Borrowed Funds $ 64,800
29 Principal Repayment $ (10,200)| $ (11,424)| $ (12,795)| $ (14,330)| $ (16,050)
30
31 |Net Cash Flow (Actual Dollars) |$(122.200) $ 47862 | % 57895 | S 56992 | $ 57,603 | $137.034
32
33 I I 1 1 1
34 PW(21.90%)=| $§ 64,485 =NPV(21.9%,D31:H31)+C31
35 IRR = 41.15% z
36 w | =IRR(C31:H31,15%)
27 T
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A Income Statements
A Balance Sheet

A CashFlows

Company prepares  ,/
reports to show the 7
results of their ~ /
operations




Financial Statements

Monetary

Internal .
Transactions

External
Transactions

Transactions

Non Monetary
Transactions

1€CO0Mme S
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Financial Statements

Income Statement

Revenues
Expenses
Income = Revenues — Expenses
Tax
Met Income Income — Tax
Profit distribution to share holders
i:ﬁ Retained Earnings Net Income — Profit Dist.

32



Financial Statements

Balance Shee@bicture of the company)

BALANCE SHEET

Assets Liabilities
Account Name Value Account Name Value
Cash
Bank accounts Suppliers
<8 Q o | Accounts
“0y1l) | receivable
& (Customer Short range
accounts) bank debts
& Inventory
Long range bank
: debts
@ Vehicles
| Machinery and Capital
3 equipment
e Fixed Assets 2) Retained
E«h;l earnings

Total Assets =sum Total Liabilities =sum | 33




Financial Statements

Balance Sheeabicture of the company)

ASSETS LIABILITIES

Current Liabilities
Current Assets

fr— — — — ———————— — — —

Long-Term Liabilities

Equity
. Owner Contributions
2. Retained Earnings

Long-Term Assets




Financial Statements

A

3
2 |Income Statement l =D5"(1+$B$5) |

3 |End of Year Inflation Rate 0 1 2 3 4 5
4

5 |Revenue 6% $ 185,500 | § 196,630 | $ 208,428 | $ 220,933 | $ 234,189
6 |Expenses:

7 Labor 5% $ 63,000|9% 66,150 |$ 69458 |$ 72930 | % 76,577
8 Materials 4% S 20800 |% 21632 |3% 22497 |$ 23,397 | $§ 24,333
9 Overhead 5% $ 10500 |% 11,025 |8 11,576 |$ 12155 | % 12,763
10 Debt Interest 7 S 7776 |% 6552|8% 5181 |$% 3646 |$% 1,926
11 Depreciation S 23143 |% 39673 |$ 28338 |% 20242 |$ 7,229
12

13 |Taxable Income H $ 60281|% 51598 |§ 71378 | % 88,563 | $111,362
14 [Income Taxes (40%) SenSItIVIty $ 24112 |$ 20639 |3$ 28551 |$ 35425 | % 44,545
15 A

16 |Net Income \ S 36,169 |$ 30,959 % 42827 |$ 53,138 | 3% 66,817
17 \

18 |Cash Flow Statement \

19 |Operating Activities: \

20 Net Income \ $ 36,169 | % 30,959 | $ 42827 | $ 53,138 | $ 66,817
21 Depreciation Y, $ 23143 | 9% 39673 | S 28338 |% 20242 | § 7,229
22 |Investment Activities:

23 | Milling machine $(162,000) =-(H24-(-C23-SUM(D11:H11)))"0.4

24 Salvage Value 3% A S 52167
25 Gains Tax $ (3,517)
26 | Working capital 5% $ (25.000)] ($1.250)] ($1.313)] ($1.378)] ($1.447)| $ 30,388
27 |Financing Activities:

28 Borrowed Funds $ 64,800

29 Principal Repayment $ (10,200)| $ (11,424)| $ (12,795)| $ (14,330)| $ (16,050)
30

31 |Net Cash Flow (Actual Dollars) |$(122.200) $ 47862 | % 57895 ($ 56,992 | $ 57,603 | $137,034
32

33 I I 1 1 1

34 PW(21.90%)=| $§ 64,485 =NPV(21.9%,D31:H31)+C31

35 IRR = 41.15% T

36 w | =IRR(C31:H31,15%)

27 T
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Financial Statements Future Scenarios

Sometimes we apply statistics

Worst-Case Best-Case
Scenario Scenario
5.260 +7.450

Pr[PW(15%) < 0] = 6.36%

Y Y
| | | | | | | | | | | | | |

— 60 —30 +30 60

—~$42,755 —-$14,325 $0 u=8$14817 $43,959 $87,231
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Financial Statements & Ratios

* Vision
> * Strategy
* Targets

—

37



Financial Statements & Ratios

Debt Management

Ratios that show how a
firm uses debt financing
and summarizes the firm’s
ability to meet debt
repayment obligations.

* Debt ratio

* Times-interest-
earned ratio

Liquidity

Ratios that show the
relationship of a firm’s
cash and other assets
to its current liabilities.

¢ Current ratio

* Quick ratio

Financial

Ratios

Balance Sheet HOW Healthy

Market Trend

A set of ratios that relate
the firm’s stock price to
its earnings and book
value per share.

e P/E ratio

e Market/book ratio

Profitability

Asset Management

A set of ratios that
measure how effectively
a firm is managing its
assets.

¢ Inventory-turnover
ratio

¢ Day’s-sales-outstanding
ratio

* Total-assets-turnover
ratio

A set of ratios that show
the combined effects of

liquidity. asset management,

and debt on operating
results.

* Profit margin on
sales

e Return on total
assets

* Return on common
equity

38



Classwork- Next week

‘

Last Class work 2012-2013:

ABC bank wishes to make a purchase agreement for smart credit cards the next 5 yvears.

- Their need is 2 million cards for year one with a price offer of 3 TL per card.
o Their demand will increase with 226 per year for the next 5 years.
o The price of the cards will be arranged according to inflation rate (TUFE), which is
estimated as 72 for each year.

Your company decided to invest in smart card producing machinery to make a sales contract with the
bank.

- The initial cost for the machinery and equipment is about 20 Million TL. You will be able to get a
credit to finance 50% of this investment with an interest rate of 12 25, again from the ABC bank.

- The cost of labor is estimated as 200,000 for yvear one and it will increase with 10% for the other
vears.

- MMaintenance cost of the machinery will be 200,000 for yvear one will increase by 5 %% each year.

- Other overhead expenses will be 50,000 for the first year and will increase by 5 26 each yvear.

- Fixed costs for the production will be 100,000 TL and will increase by 10,000 for the following
years.

- You will be able to use straight line depreciation to deduct yvour investment from tax within the
first four years of project life.

- Tax rate is given as 20%a.

You heed to keep a card inventory of at least for 2a month within the process and shipping area. The
cost for this is estimated as 200,000 and this value of inventory will be sold at the last year of the
project.

The project life is five yvears and all the machinery will be sold at the end of the five yvears with the
estimated price of 4 million TL.

a) Develop the Income Statement and Cash Flow table for the 5 yvears project life
b} Calculate Internal Rate of Return of the project.
) Calculate the Net Present Worth of the net cash flow if the MARR is given as 15%.
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Classwork- Next week

A B C D E F 3 H
1 Years
> It fmcraase & o P 2 3 I 5
%a

-
4 Revenues:
5 Unit Price (TL}) 7.00%
& Demand (Units) 3. 00%:
7 I N Y A Y
3 Exponses:
=] Labor 10.00%

Kaintenance S5 00%

Owerhead 10.00%

Dept Interest 12.00%:

Fixed Costs 10,000.00

Depreciation 25.00%

e e e e e Y
Taxable Income

TA Z20.00%

Met Income After Tax

[ T A Y B oy Y Y Y Y
FHEMIDG S U1 s N D

22 Casf Flow

23 Operating Activities:
24 |Met Income After Tax
75 Cepreciation

26 frmvestment Activities:

27 |Inwestment
2 Sabrage
20 |Gains Tax Z20.00%

2 |WWeorking Capital

31 |Financial Activities:

P Borrowed Funds S0.00%
Principal Repayvment
fﬁﬂet Casfr Flow
35 RR
36 |Assumptions 1. Megative tax is received back or deducted from our NEWT5%)
37 companies other taxes. So it affects net income positivrehy.
28 2. Total working capital is cashed back in year five since all

30 in—process card inventory are sold at the end. 40



Next week

Project Cash Flow analysis
with or without spreadsheet

Power of Cash Flows against Financial statement
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